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4| K8 | 10| 7|1 | 2 |6.0| 33| 23 | 56 |56.100002020303 | 5 [3.0 | 9.0 | 4 9.00000 | 4
3| =8 | 4| 8| 12| 5 |25 | 27| 36| 63 |63.100100050301 | 4 |40 | 65 | 5 6.50000 | 5
5| RIBE | 7| 6| 12| 5 |26 ] 25| 16 | 41 |41.080100010303 | 7 |10 | 86 | 6 3.50000 | 6
1| &8 | 6 | 4 | 9| 7 |10 | 26| 18 | 43 |43.080100020203 | 6 |2.0 | 3.0 7 3.00000 | 7
6IXBREES| — | - |- |- —-|—-| | - — - =1 - - | - - - | &
XERERIABABEESDZH TOVIRSICEEIBLAEN. TIBEPFET 2.
[ REVRTVRVNEKBA T2 =8P ARE 374N =10R A, 6761 = IR AH T8I = TR A, 910l =5 RAKL. 11121 =32 A%
(BB VNSRS E~NHRU T =S "R N MR T2 =811 B. 3 =#351211 8. 41 =3%81317 B. sl =3814171 8




HASMMM Ty Ke BR@EEED

TELT

| DA

T]

lI&f

DEET

| DA

17

&1

| DA

&1z

PREBF | BEFEF

| DA

17

&1

Sl




